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1. Plot each of the following points in the plane, then convert them to Cartesian coordinates.
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2. Sketch r = 2 cos(46).
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Find the slope of the tangent line to the given polar curve at the point specified by the value
of 6.
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X= 1¢os(®) = (ans@)) Cos(O)) = Jcs?(6)

ﬁ; sn(®) = 2 c0s(6 ) 5n(®)
=5 A Casz(é)’f"lz@)) sn(6) — (o)

=8 - 0 = )=
;é EX‘ -L/Cos(@)ﬂn ®) 2 Cs®)5n(6)
e 5}
=
TN ;,_ e / /o )5?
A% =Ty, )((5) LZ z §)

4. r =cos(0/3), 0 = 7.
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to compute the area of one leaf of the four-leaved rose r = cos(26).
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5. Use the formula
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6. Use the formula
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to set up an integral that computes the length of the cardioid r = 1 + sin().
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